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BTMC-131 : HISTORY OF TOURISM—I 

Time : 3 Hours  Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks.  

1. Define tourism. Why is it different from 

travel ? Explain. 20 

2. What are the essential features of a tour ? 

Why is a package tour a popular concept ? 20 

3. What is the 4S formula ? How do business 

and conventions encourage tourism ? 

Elaborate.  20 
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4. What role can government play to encourage 

tourism ? Explain with suitable examples. 

     20 

5. Discuss briefly the following : 10+10 

(a) Essence of Buddhism 

(b) Sikhism 

6. Critically examine the future of pilgrim 

tourism in India. 20 

7. State the main reason for the creation of 

French Riviera Resorts. 20 

8. What are the key factors to be considered 

while planning an island resort ? Elaborate 

with an example in Indian context. 20 

9. Discuss the tourism potential of Kovalam. 

What other places can be visited around it ?  

20 

10. Describe the various Indian ancient 

dynasties. Give reasons for their rise and 

fall.     20 
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ch- ,- (O;kolkf;d v/;;u) i;ZVu izca/ku  

(ch- ,- oh- Vh- ,e-) 

l=kar ijh{kk  

twu] 2025 

ch-Vh-,e-lh-&131 % i;ZVu dk bfrgklµI 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % dksbZ ik¡p iz'u dhft,A lHkh iz'uksa ds vad leku gSaA 

1- i;ZVu dks ifjHkkf"kr dhft,A ;g ;k=k djus ls dSls fHkUu 

gSa \ foospuk dhft,A 20 

2- ,d Vwj dh vfuok;Z fo'ks"krk,¡ D;k gS \ ,d iSdst Vwj 

,d yksdfiz; vo/kkj.kk D;ksa gS \ 20 

3- 4S QkWewZyk D;k gS \ O;kikj rFkk lEesyu i;ZVu dks dSls 

izksRlkfgr djrs gSa \ foLr`r dhft,A 20 

4- i;ZVu dks izksRlkfgr djus esa ljdkj D;k Hkwfedk fuHkk 

ldrh gS \ mi;qDr mnkgj.kksa dh lgk;rk ls foospuk 

dhft,A   20 
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5- fuEufyf[kr dh laf{kIr foospuk dhft, % 10+10 

(d) ckS¼ /keZ dk lkj 

([k) fl[k /keZ 

6- Hkkjr esa rhFkZ;k=k i;ZVu dk vkykspukRed ijh{k.k 

dhft,A   20 

7- Ýsap fjosjk fjtkWVZ~l ds fuekZ.k ds izeq[k dkj.k crkb,A 20 

8- ,d }hih; (Island) fjtkWVZ dh ;kstuk cukrs le; fdu 

eq[; rRoksa dks /;ku esa j[kk tkuk pkfg, \ Hkkjrh; lUnHkZ 

esa ,d mnkgj.k nsdj foospuk dhft,A 20 

9- dksoye dh i;ZVu laHkkouk dh foospuk dhft,A blds 

vklikl fdu vU; LFkkuksa dk Hkze.k fd;k tk ldrk gS \  

20 

10- fofHkUu Hkkjrh; izkphu jktoa'kksa dk o.kZu dhft,A muds 

mRFkku rFkk iru ds dkj.k nhft,A 20 

× × × × × 

 

 


